Acid-Base Equilibria

1. What is the formula for percent ionization?

2. A solution of HCI has a pH of 2.3. Calculate the pOH, [H], and [OH]
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3. What is the concentration of hydronium ions in a solution that has a volume of 2.50 L and
5.33 g of HC1? What is the pH of this solution?
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4. Calculate the pH of a solution prepared by mixing 0.15M HF with 0.18M NaF.
(Ka of HF is 6.8 x 107, pKa = 3.17)
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5. Calculate the pH of a solution that is 0.20M in HCHO; and 0.15M in NaCHO»
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6. Vinegar is a dilute solution of acetic acid (HC2H303). If the concentration of HC2H30: in
a vinegar solution is 0.210M, calculate the percent ionization of acetic acid.
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7. Calculate the percent ionization in a 1.0M solution of nitrous acid. (Ka=4.5 x 10

Wb, = W Wb, R
T (oM | o “ ne
C | ~-x 2RI o A
= NMS N
Elvnex » * %= VWS X\
224 NO” T
6l AR = | .\olb
Cwe)
8. If the hydrogen ion concentration of a solution is 2.5 x 10°M, what is the pH of the
solution?
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9. What is the pOH of a solution with a pH of 8.72?
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10. What is the pH of a 0.50M ammonia, NH3 solution? The Ky of ammonia is 1.8 x 107.
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